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次の方程式を解きなさい。

（１）( x＋２)( x－４)＝０ （２）x(x －５)＝０

（３）x２－９x ＋８＝０ （４）x２＋１４x＋４９＝０

（５）x２－１６＝０ （６）（x －３)( x ＋８）＝３ x

（７）( x －４)( x ＋２)＝２x －８ （８）３x２－２１x ＋３０＝０

（９）x２－６x －３＝０ （10）５ x２＋５x －３＝０
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１（１） （２）
x＝－２、x ＝４ x ＝０、x ＝５

（３） （４）
x ＝１、x ＝８ x＝－７

（５） （６）
x＝－４、x ＝４ x ＝－６、x ＝４

（７） （８）
x ＝０、x ＝４ x ＝２、x ＝５

（９） （10）
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計算

両辺を３でわると、

x
２

－７ x ＋１０＝０

( x－２)( x－５)＝０

x ＝２，x ＝５

計算

左辺を展開して整理すると、

x
２

－４ x ＝０

x ( x－４)＝０

x ＝０，x ＝４

計算

左辺を展開して整理すると、

x
２

＋２x －２４＝０

（ x ＋６)( x －４）＝０

x ＝－６、x ＝４

１０

８５－５
＝x３２＝３x

計算

３２＝３

２

３４６
＝

２

４８６
＝

１２

（－３）１－４（－６）－（－６）
＝

2

x

計算

１０

８５－５
＝

１０

２５＋６０－５
＝

５２

（－３）５－４５－５
＝

2

x
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